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>> t = 0:1/8000:1;
>> xx=sin(2*pi*400%t) ;

gbooobooob xx 000000000000

>> xx2 = 1/2 * xx;
>> sound (xx2,8000)
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>> t = 0:1/8000:1;

>> xx=sin(2*pi*400%*t) ;
>y =1-1t;

>> xx3 =y .* XX;

>> plot(xx3);

>> sound(xx3, 8000);
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gbobogdxee0o 0000000 xx00000000000OO

>> t = 0:1/8000:1;

>> x440=sin(2*pi*440%t) ;
>> x660=sin(2*xpi*660*t) ;
>> xx = x440 + x660;

>> plot(xx(1:100));

>> sound (xx,8000) ;

oboobooboobobobobobobUobOobOobDOoboobOoDbOD 20000000sound OO0 help
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>> soundsc(xx, 8000);
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>> t = 0:1/8000:1;
>> 593 = 4/pi * sin(2 * pi * 440 * t) + 4/pi/3 * sin(2 * pi * 440 * 3 * t)
>> sound(sq3, 8000);

U011 sqg30 00000000000 0O000O0O00OO00bO0O0b0O0b0On
ob12»=5,90000000000000000000

goooboooooon

A= Z Ay, cos 2wk f (2)
k=1
oood
8
Ak _ T 2R2 k == 1,3,5,. .
0 k =246, ..

gb 130000 n=3,5900000000000000000000

matlab 0000 (1)000000000000O00OO squared 0 (2)0000000000000O0O sawtooth
ooooooooo

>> t = 0:1/8000:1;

>> sq = square(2 * pi * 440 * t);

>> plot(sq(1:100));

>> sound(sq, 8000);

>> tr = sawtooth(2 * pi * 440 * t, 0.5);
>> plot(tr(1:100));

>> sound(tr, 8000);
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